&7 (6] ERUEEAGEGERDE FEEERS Ok ER PRRISHETHLI6 A (H) 171 (-8 SR /B F R
s | A 1 2 i 3 {i 4 fr 5 i 6 fi 7 8 fir
LI AN N=R I K4 ol K K4 ol K K4 ol K K4 o [T K4 ol K K4 o K K4 ol K K4 ol
4 Xt Jak B4 5 Jak 4 7 Jak B4 5 Jak B4 7 Jak B4 7 Jak B4 5 Jak 4 Jak
100m 64 | 7| 1 /NR fEE 3 10.81 2 0 —th 3 11.06 3t A 3 11.14 4 A 3 11.21 5 bR B 3 11.22 6 Kig i 3 11.27 T HEAET R 3 11.30 8 A FHH 2 11.31
i 5 0.0 AT 2 0.0 EPN A 2 0.0 WESE, 1 0.0 EPN I 4 -0.8 paidlige il 5 -1.0 NEF 6 0.0 Akl 4 -0.8
200m 38 | 7| 1 VEEE P 3 22.20 2 HA Ali— 3 22.28 3URA HH 2 22.40 4 S = 2 22.44 5 Il it 3 22.54 6 3K SEXR 3 22.64 TS 3 22.71 8 i A 2 22.72
17) E o 2 0.8 SIS 3 0.3 Al 4 0.8 AL 3 0.3 &1 2 0.3 i 1 1.4 AT 2 0.3 HgT 1 L1
400m 40 | 7| 1 PEEE P 3 49.38 2 HAf Ai— 3 49.52 3 FRE i 3 49.65 4NE 2 50.40 5 dik 2 2 50.67 6 L FHE 2 50.73 T =M RS 3 50.76 8 R 3 50.81
161 HCE 2 AR 3 N 4 NET 6 H 1 B 4 EbN i 4 il 2
%1 800m 43 | 7| 1 4RH fekt 1 1:54.78 | 2 FE Gk 3 1:55.85 | 3 ik #Hh 2 1:56.49 | 4 WM HEK 1 1:57.16 || 5 i HEsL 3 1:58.24 | 6 < 3 1:58.37 | 7 thik MEA 2 1:58.60 | 8 K& # 3 1:58.93
17) s 4 EPN A 4 UL 1 i 5 sl 4 U 1 B 1 i PNGELSd 4
1500m 41 | 7| 1 S A 3 3:59.43 || 2 UF JEAR 2 4:01.29 | 3 = B 3 4:02.89 || 4 b oK 3 4:03.19 || 540N HE 3 4:03.47 | 6 fex A IR 3 40372 || T &R BA 3 4:03.87 | 8 ¥EB HIARS 3 4:05.08
16 gk 1 i 6 P 3 e 5 LR 5 IS 4 LR 5 ol 5
5000m 50 | 7{ 1/ ez 2 15:17.97 || 2 R BA 3 15:18.62 | 3 VBB HIARS 3 15:19.53 | 4 FhiE HE— 2 15:21.13 | 5 falll FHP 2 15:25.98 | 6 (L K 3 15:29.36 || 7 A flith 3 15:40.02 | 8 M HEE 3 15:42.32
17) K 3 LR 5 ol 5 LR 5 Sl 4 LR 5 EN A4 4 Sy A 3
tomi | 24 | 7| 158 KK 3 15.05 | 21N #A 2 15.30 | 3B/ Wk 3 1557 | 4 %0 fi 2 15.63 | 5 ik s 3 15.87 | 6 &) B2 3 15.92 | 7 GHiE #hix 3 1643 | 8+ K 3 16.97
16| | #REN 1 0.7 St 4 0.7 EasamEIlll 2 0.7 i 1 -0.7 L MWN 1 -0.7 SR 2 0.7 Al 5 Z17 Al 5 Z17
400mt | 28 | 7| 1 B i 2 54.63 20/NE K 3 56.25 3SR T 3 56.46 4 K fitfe 1 57.27 5 PRIl P 3 57.32 6 fAH KA 2 58.17 7 EM # 2 58.35 8 Kl i 2 58.38
170 1 AT 6 HL 1 HL 1 HolExis 1 BATRRYA H i) 2 HRE 1 e 1
3000mSC| 18 | 7| 1 fHiE Fuk 3 94849 | 2 EHAF &k 3 94917 | 3 BB 48 2 95331 | 4 —K 2 10:00.44 | 5 FEA ¥ 2 10:03.69 2 10:07.71 || 7 B fth 3 10:08.00 | 8 Hi KA 3 10:16.48
16 AR 5 KBS 6 R 3 S 5 KB 5 5 KBS 6 A 3
5000864 11 | 7| 1 A P 2 22:46.68 | 2 ghAK A 2 28:39.22 || 3 FEE HEX 2 31:09.32
17 s 1 A S 4 WEL: 1
4x 4 | 7)1 18 2 HOR 3 LS 4 HEFHH 5 AN 6 6 A 6 7 i 8 HORT
100mR 16|  EHAJE 5 2 i 2 RE MR 3 Kig Wi 3 W 3 ESVIRE PN 1 FH A 2 Al F— 1
Bl R 3 42.91 Epk Eih 2 42.98 FER KR 1 43.15 P HER 3 43.21 Farss Fnfd 3 43.40 B3 RS 2 43.49 TR = 2 43.56 (L 3 13.67
iiE BE— 3 [NUNZIN 1 il 3 JIHE =] 3 R N 2 Bz 2 G 2 R s 3
AL TEVC 3 i 2 SR e 3 Pkt 3 Fif B 3 N 2 SR 3 i A 2
4x 51 | 7{1 EPN I 2 2 3 HOR 4 HORE 5 HOR T 1 6 S 3 7 AR 8 LilE 2
400mR 17| AR K 3 it 3 [NIRZIN 1 A HE 3 R s 3 FH A 2 el 8k 3 e K 2
T ks 3 3:23.27 HSALR K 3 3:25.16 i 2 3:27.67 Ak Kifi 3 3:27.89 AR PR 3 3:28.09 R = 2 3:28.38 AT fli— 3 3:28.55 it 5A%k 2 3:29.10
El S PNl 3 Bl #h 3 K s 1 Ak HRH 2 UL 2PN 2 TEE P 2 RS 1 T FniE 2
A SRR 3 e 3 LN 3 aRE i 3 g 3 FiAiE RS 2 LU £ 2 ELlf M 2
dEwpk | 31 | 7| 1iEm g 3 2.06 2 PRk A& 3 2.06 RIES o 2 2.03 4 Bl 2 1.97 5 et R 2o 1 1.94 QU 3 1.94 7 EE B 3 1.91 8| RJF BT 3 Gl 1) 1.85
6] N\FT 6 RN eALll 2 S 4 EPN I 4 EASLIE A 5 BEL 1 b8 il 6 ZUE RISk 2 GET6)
HemiBk 6 | 7|1 EE HeE 1 1.20 2 WLE i 3 4.20 3R R 2 4.00 4 Tk B 1 3.60 5 #iAR EUE 1 3.20
16) gt 1 HL 1 HL 1 HAL 6 A SChE 2
FEdERE | 28 | 7| 1bn K 3 6.95 2 HSE IR 3 6.73 3K —fA 3 6.68 4 A HE 3 6.54 5 =M BEKRE 3 6.49 6 A 1 3 6.49 T EHE 2R 3 6.44 8 Ll {3 2 6.30
17) e 3 0.3 SR 2 -0.7 i 1 -0.3 HgE 1 0.0 EPN A 4 0.0 Ak 5 -0.3 Ao 1 0.0 AH I 6 -0.5
ZEE | 34 | 7| 1 A K 3 13.97 2 A P 3 13.93 3bn Kt 3 13.84 4 /NE EL 2 13.54 5 iRy i 2 13.49 6 A HE 3 13.33 7 i 5L 3 13.31 8 ik Z=HI 3 13.08
16| Rkl 5 0.1 NET 6 1.6 T 3 2.0 Bidi/eril 6 0.5 A EE 6 1.2 FULE 1 0.2 H 1 0.0 HBES 1 0.0
T i | 19 | 7 1 BEs B 3 14.72 2 Bk T 2 14.01 3A = 2 13.43 4 DV 2 13.40 5 Kifi Hik 3 12.30 6 KF BLAKRR 3 11.98 7R B 3 11.31 8 i A 3 11.29
16) gt 1 ERZNEAS 1 HL 1 AP 6 B — 2 ANl 2 BRI 2 BT 1
MaEge | 31 | 7| 1 B BAY 3 44.34 2 Bk T 2 42.44 RIRE S ) 2 41.40 4 KK Fuf 3 41.00 5 Kifi Hik 3 40.34 6 iaA = 2 40.07 T R iR 2 38.53 8 HA Hist 3 35.40
16 HUAL 1 HRTEE 1 H 1 Bidi/eril 6 B 2 H 1 ik 4 ik 4
rve-te |29 | 7| 1R fESE 3 52.27 PALCTE I N 3 19.82 3RA M 2 19.25 4 ARl 3 16.60 | 5 LM 2 46.51 [ECr vased 2 15.76 7 K B 2 13.74 8 i A 3 43.18
17 PR 3 B 3 H 1 R 3 B 3 R 3 R 3 LN 1
i 37 | 7)1 hiR R 2 55.81 2 HA K— 3 49.57 3 ek 2 49.45 4 P L 3 48.64 5 /MBI 3 48.59 6 (L {5 2 16.87 TR RS 3 46.81 8 ffr &K 3 44.92
vl IREEER TN 2 e 2 KBS 6 Sy A 3 HBICE 3 FA 6 KBS 6 HoEses 1
ECFR AT FH — Ew
12 1 Hi2H 30 Had 12 H1H Hi2h H3H Ha8
7| Bk 130 {4 R A A i R SUE B Wl R
Ed Y DN 105 ) ﬁ; i L.3m/s 0.8m/s ﬁ; E{: £ 2
| sk 722 b ¢ I 31C 26C ¢ ELAF s FHR B H B kX w
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W% 27 Inl RO R B RS R R SERHSETHI6H (7) 17H U1+ BARATHIBE U
| A 1 {7 2 i 3 {i 4 {7 5 (i 6 {if 7 8 {if
= WN=Y RE] A VR R < U S (VA N R < O S (VA N A <N << U S (VA N R << U S (VA N A R <2< U S (VA N v <R << U S (VA N A <R <2 O S (VA N A R <2 O - 3
B4 3dd Rk B4 3dd Rk B4 3dd Rk B4 3dd Rk B4 3dd Rk B4 3dd Rk B4 3dd Rk B4 3dd Rk
100m | 40 | 7|1 ¥ K 312,02 |2 HBE ORIET 20 1264 | 3 AR AL 1 12,65 |4 5R % 2 1266 | 5/IUE BHIAH 3 12,78 | 6 fliFE KT 2 1288 | 7 MEE anka3E 3 12.88 | 8 HFEMR fEFHF 3 12.96
16 aCjERET 3 0.3 ABESE 1 0.3 U 3 0.7 U 3 0.3 HHE T 6 -1.3 HAZ 4 -0.3 SLE 1 -0.3 S 3 -1.3
200m | 36 | 7|1 HhiE 3 24.63 | 2 MR AKSE 3 2596 |3 R ¥ 2 2629 | 4R TS 3 2640 |5 fH W 3 2667 | 6 A KMAR 2 26.73 | 7 PR ASE 2 2677 | 84k 2 26.86
17 sERET 3 -0.6 ANET 6 -0.6 HUH L 3 0.6 HUH 3 0.0 S 4 0.6 Gy 6 0.0 5L 6 0.0 fEE 2 0.0
400m | 35 | 7|1 fiE A% 2 5772 |2 HER AR 1 5802 |3 AV EZ&E 3 5940 |4 BH HA T 3 59.53 |5 KA M 2 59.71 |6 WEE TS 3 59.82 | 7 JEK RA 2 60.09 | 8 il JFRA 3 60.29
IEZL N~ 5 L 1 H AR 4 AL 6 HURREE 3 HURRER 3 AN 8 5 Je 2
| 800m | 30 | 7|1 LA b 3 2:17.38 | 2 BW HE&A T 3 2:18.83 | 3 M@ & T 3 2:19.98 | 4 ms & 2 2:22.20 |5 & )y 2 2:22.29 | 6 R EHA 2 2:22.54 | 7 AJE EZE3E 3 2:22.70 | 8 W RRE 3 2:22.82
7] AR 3 AL 6 AL E 6 RS 5 JER 3 A 1 H AR 4 il 22 5
1500m | 48 | 7|1 fF0 mfE 3 4:40.96 | 2 B4 JRRAC 2 4:42.98 | 3)JIE #EJy 3 4:44.48 | 4\ HE M 3 4:47.91 |5 R 23 3 4:48.26 | 6 VM Wiz 2 44831 | 7T KHE &R 2 4:48.56 | 8 /MK EHIF 3 4:48.93
16] AU 1 JIER 3 NET 6 AL IE 6 NET 6 it 1 JE35sS 2 R~ 6
3000m | 36 | 7| L )i #EJy 3 10:06.57 | 2 0 123 3 10:16.30 | 3| &% M 3 10:20.01 | 4 /MR fA 7 20 10:24.87 | 5 g HLE 2 10:26.54 | 6 Ak AL 310:28.20 | 7 KM #% 3 10:29.22 | 8 EikE PR T 1 10:34.73
17 \ET 6 NET 6 NET 6 JEK 3 NET 6 JE35sS 2 Edy=It] 3 NET 6
100mH | 20 [ 7|1 (A »<AH 30 1438 | 2 Sl BEE 2 1496 | 3 gA 3 1513 | 4 fk FEth 3 1584 |58k ZFE 3 1586 | 6 kM fEXRT 2 1601 | 7 R FE 2 1623 |8 Wil BT 2 16.59
16 BHNE T 6 -0.8 \ET- 6 -0.8 R 4 -0.8 Tl 4 -0.8 AR L 3 -0.8 HL 1 0.8 S N7 2 -1.1 AR 2 -1.1
400mH | 22 | 7|1 KMl Eav 3 6233 | 2 REF Sk 2 6359 |3 A dE 2 6780 |4 WEE NEA 2 68.22 |5 KM &Mk 2 68.37 | 6 BAMH ZERE 1 68.80 | 7 ¥ TH 2 68.81 | 8 AF A 2 69.15
7] AU 1 HE ST 2 [ ff 6 NET 6 A 1 H RN 2 NET 6 HoLE 1
3000644 7 | 7|1 dakE B 2 15:05.64 | 2 ZHk 2 15:09.63 | 3| EJII 8% 2 16:38.10 | 4 fHF R T 3 17:50.91 | 5 )il FH 3 20:33.65
16| #AUnE 1 L 1 L 1 L 1 il 22 5
4% 4 | 7)1 v 252 3 2 I 6 3 Eiaw=y 6 4 HOL 1 5 BPNET 6 6 Hil A £ 5 7 EAPNi] 5 8| HBRLHH 2
100mR 16| (hER EF 3 A s 2 FEA TR 1 Filr Os 2 WA 3 I ARE 2 PEFT A 3 R 3
By 5 1 4731 A Nk 1 49.57 PRORMAR 2 50.23 EH A 1 50.49 IHE <A 3 50.75 I 3 50.80 WK R 2 5159 PN 2 51.68
hlR ¥ 2 AN LA 1 O Hof 2 AN AT 2 %y RT3 Bl 1 AH i 2 J UG CFN 1
i ik 3 Tl A 2 M B 1 B Bigk 2 YD Emk 1 Hp AFHE 3 TR EE 2 BaTH eEE 1
4% 29 | 7)1 v 252 3 2 Hil A £ 5 3 HRECKRn 6 4 NET 6 5 BPNET 6 6 BB 1 7 I 6 8 EPN; TN 4
400mR 17| EE R 2 NI E 5= 2 JERF Feon 2 WY NEE 2 WA 3 K dHH0 1 T AR 2 er K ZEg 2
S bJs 3 4:02.68 HUNEE 7 3 4:06.51 o Kt 2 4:08.64 W OB 2 4:09.78 fik HEZ 3 4:10.10 EP NS 1 4:10.52 A Nk 1 4:10.77 A EZEE 3 4:10.80
UNTIE S 3 B AR 1 eI fET 3 PR TR 2 Wil Emkl 1 i it 2 R 2 HH HdH 1
PN LR 2 SR 3 PR Ak 2 gy 2 I D<A 3 WK I 2 AN ZELDL 1 N FEED 3
Awpk| 43 | 7|1 & WEFE 2 1.61 | 2 Kbk B 3 1.58 | 3 WA AOME 1 1.58 | 4 i ¥ 3 1.58 | 5 L¥F 2%t 2 1.55 | 6 /MK B 2 1.50 | 7lE FHRFE 3 1.50 | 8 @I HEW 3 1.50
16| #BENS 1 5 P 5 it 1 LB 1 A 2 it 1 S KIHE 2 SRR 4
Hempk| 3 | 7|1 EE KT 3 3.10 | 2 WO Fik 2 2.60
16] B 1 JNER 3
gk | 31 | 7|1 Fii AH 2 546 |2k WHFE 2 5.34 | 3N FEHIAE 3 5.27 | 4Rk ERET 2 5.13 |54 HA 3 5.12 | 6 f)Il ZH 2 5.11 | 7 HhEIR A 3 5.08 |8 #H K& 2 5.04
ol IRNEL 6 0.1 A5 1 0.5 foEsHwE 1 0.3 LI 6 1.2 EPN;I 4 1.3 A5 1 2 Y 3 0.5 F YIS 1 1.2
SEpk| 4 | 7|1 T kKB 2 1212 | 2B mER 2 1054 | 3 fexk EE 3 1009 | 4T A 3 9.97
T 6] [ffE 6 1.4 FOURAHR 3 0.8 I\ E T 6 1.8 R ZANTL 0.6
R | 28 | 7|1 gk ALk 2 1281 |2 WAt EE 3 1129 | 3 AR M 20 1093 |4 BWIASE 2 1046 |5 /N A 3 9.65 | 6 HE & 2 9.28 | 7 WK EE 3 9.23 | 8 [MMH HFE 3 9.07
7] AU 1 A1 2 NET 6 L 1 A 3 AP 4 BiE e 6 AR DAY 6
P | 27 7)1 AN R 3 3331 | 2/{2% HET 332,05 |3 AR EET 2 3179 |4 WP mER 2 3045 |5 MR OKHEAE 2 3027 |6 Wi HE 2 3023 |7 ZhF 4 2 28.82 | 8 Mk mifE 1 2877
16 xR 6 L 1 NET 6 MorFsE 1 NET 6 #Eok 6 Gy 6 L 1
0| 40 | 7|1 D REHIEFE 3 3937 | 2 &df EFE 1 393 | 3 AT BE 3 37.23 | 4 [ ERT 3 36.07 |5 HE BE 2 3426 | 6/ AK ERET 2 33.88 | 7T ¥RK FET 2 3376 |8 MEA HET 2 33.36
7] HoEska 1 L 1 RSy e 6 P\ E T 6 AP 4 LI 6 RSy e 6 A H AN 6
e AT FH — ®Ew
12 B1H F2H $3H A 12 F1A 2 H 3 A
A B W s i R WL g w8 A I
£ BIMAE 2 ;’i JEGH 1.3m/s 0.8m/s ;’i BN L %
| s s s 31C 26C Vo I Y FHE B B B x°
£ BIMAE 2 gy 69% 81%
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% 26 [ BUTESRSETREE LR IEARS R R8T 16 H (B)+17H (1 +4) BRI 5
zm | A 1 g 2 i EA 4 fi 5 i (A 74 8 fiL
LI IDN-W e) I K4 2o | K4 S KU K4 S R K4 o K4 S R K4 S R K4 S R K4 il
B4 ik 4 ki 4 ki 4 ik 4 ki 4 ik 4 ki 4 Jalj
wom | ag | 7|1 FEAR BARS 1 1085 | 2 /K EE 1112 | 3 TFHT PEsh 11.24 |40 HEA 1 1128 |5 EM ffith 11.50 | 6wk w4 1 1153 | 7)K% =i 11.57 | 8 ZfF Kif 1 1164
16) IR 5 0.7 HE Y= 0.7 Hnt 0.7 PR 3 0.7 R RE 0.7 FORURTE 3 0.7 5 0.7 IET 6 0.7
soom | as | 7|1 &l KEE 12225 | 2/ K MK 22.32 | 3/ R 2239 |4 HEA 1 2275 |5 7EAE AR 23.14 | 6 A& Sk 12317 | 7 TR BESL 23.22 | 8 I Kit 1 2353
b eSS 1 1.0 e 1.0 RSy <5 1.0 TR 3 1.0 TR 1.0 TR 3 1.0 HOL 1.0 INET 6 1.0
| soom | a8 |71 AW itk 1 2:00.81 | 2 41 &34 2:01.58 | 3 AJL 3% 2:02.44 | 4 BIH FK 1 2:02.83 | 5 fKH AT 2:03.90 | 6 FUK HiAM 1 2:05.55 | 7 /NE X 2:07.82 | 8 A &AL 1 2:07.89
vl NET 6 PR EIEZS MRS 6 B\ E T B\ E T 6 H AR A PR 3
s000m | as | 7|1 BB K 1 8:59.91 | 2 KZHM 8:59.93 | 3 #JF P 9:00.67 | 4 /R Hi— 1 9:03.62 | 5 PEHR #HIE 9:10.34 | 6 # B 1 9:10.89 | 7 WTH Bk 9:12.67 | 8 45 B 1 9:13.61
16| AR 1 DKl RLES DKl 4 LS \ET 6 R AR 4
vomgt | o3 | 7| U 1ESE ST 1 1549 | 2 W 15.54 | 3JIi0 #L~ 15.62 | 4 FupH fliR 1 1587 |5 & R 15.98 | 6 /NEFSE 1 16.05 | 7 FEF € 16.24 | 8 /L ] 1 16.28
16| ABSE 6  -1.0 HURL K -1.0 HBE S -1.0 HEE— 5 -1.0 MRS -1.0 B D) 4 -10 HILEE -1.0 Al SCAE 2 -1.0
g | as | 7|1 NI BRE 1631 |2k 3hE 6.23 | 3 Mt X 6.16 | 4 EJ HEE 1 607 |5 M8 B2 5.98 | 6 Bk Bt 1 583 | 7 M M 5.80 | 8 45dF #hth 1 580
ES 17| R 3 0.0 TR 0.0 30T 0.1 Ht 1 1.3 RN -0.7 AN 6 0.8 HURE T KA -1.5 HAATER 1 0.7
woage | a7 | 7] L I B 1 13.95 | 2 BKAS Cf:dst 13.84 | 3 85K EA 12.54 | 4 AikE D7 1 1156 |5 A FIK 111 | 6 P& BhA 1 1103 | 7 Nk 4EiE 10.65 | 8 #hf {2 1 10.38
17 AiCEE 2 Ak L es INET 6 B — HoIFSRE 1 #L AL 3
maze | or | 7] 1 Btk 1 39.79 | 211 B 38.83 | 3 fhAE KMt 35.00 | 4 AiE D5kt 1 34.84 |5 HF A 32.79 | 6 & IEWE 13236 | 7&IL B 3178 | 8 JEED BHK 1 30.90
16] Ik 3 SR HU A INET 6 J\ET H AR A 6 i JE ST HoFERE 1
wom | ag | 7| 1B BAEET 1 1276 | 2 BIAG HRER 12.79 | 3 A sk 12.85 | 4 #6K HEF 1 1295 |5 f&A B 13.04 | 6 Jit &nfl 1 13.08 | 7 /N O3ELL 13.09 | 8 K b 1 1310
16| EUREF 3 04 LA 32 0.4 ki 0.4 HBE S 1 04 AR 0.4 il i £ 5 0.4 ki -0.4 HBE S 1 04
soom | as | 7|1 A ik 1 2597 | 2 MG #RER 26.10 | 3 gk HEFE 26.48 | 4 i w1 2649 | 5| EJE AR T 26.51 | 6 K bhw 1 2658 | 7/ OIELL 26.61 | 8 AR b 1 2719
I 17| B 6 0.4 i 32 0.4 HBE S 0.4 I 3 0.4 R 0.4 A5 1 0.4 ki 0.4 TR 6 0.4
soom | as | 7|1 MEID AR 1 2:16.13 | 2 A FRl 2:20.12 | 3 AR fEfHET 2:20.29 | 4 UK 23k 1 2:23.39 |5 AR EE 2:24.46 | 6 &M Al 1 2:24.66 | 7 fiA (KA 2:24.96 | 8 WD T 1 2:25.58
7 LSS 3 T HURL T R 1 LoENG] R 1 J\ET B\ E T 6
1oomi | 3 | 7|1 EHL i 11497 | 2 ffEr mbT 15.26 | 3 {REF i 16.22 | 4 &3 AE 1 16.62 |5/ KE 16.73 | 6 FYIl %0 1 16.73 | 7/ FUh 17.58 | 8 FHE HiFd 1 17.80
16 AU 1 -1l 3T -1.1 LS -1.1 BEHER S 6 1.1 Hil % -1.1 HBE S 1 -1l HEL -1.1 /N 2 -1l
| e | oas | 7| 2A BEREE 1 518 | 2 =l BX 5.08 |3 AH HAHE 5.02 | 4 fRHT (KE 1 5.02 |5 #Fk #5{E 4.99 | 6 WAL B L 492 |7 BTE ISHT 4.89 | 8 WA AJME 1 486
EEIES 3 0.4 |30 0.0 MRS -0.1 LS 1 0.2 TR -0.6 ki 4 0.0 RN -0.1 LS 1 0.1
e | o2 | 7| LA EFEE L 1110 | 2 ARZEEF HEN 11.04 | 3 1efg difk 10.00 | 4 %A XET 1 897 |5 gk Ak 8.92 | 6 MR Wik 1 877 | 7K E 8.58 | 8 MMk 1 828
17] R 1 R R 5 i 3 HR— b ARHT 4 #IF i e 2
FRREAT ¥ 8 — %o
12 H1n H2H g3 H4 i 12 1A $28 $3h H4n
| Bk 123 % i~ il . A i SUE w5 wmE OB’ oEn
< zwmAR 107 ) ?.if i Lam/s 0.8m/s 5 F £ L
AR ICT 268 ¥ R ac 26C | yoprasya fgr fgr T # @A B x©
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